BRHBHRFODMIERERDR (KIE)
REHME : FR8F1281H (R) ~Fpi28512H28H (7K)
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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (1208 | t/9h134 (by9h134) 994137 (1994137
(EES HiRF+ BB P EHET 21H0K) | A#&HE 10.2 | A%&HE 9.3
R EES FOAE BB LI T AHET 22H(R)| A& 11.9 | ~&E 10.6
EESES HYNYAE BLUHEENZFE | 1HR)| EE 10.8 7.7 6.3
AEEES Yh1E 8L AT 2H(K)| A1&EH 10.6 | Ai&H 9.5
5 |B Jv A E BB LT AT 2H(KR)| A& 10.1 | A%E 9.0
6 |FE 43 BB LT A ST 5H(B)| A& 11.9 | ~&H 10.6
[ ES ERt=V 8L A ST 2H(®)| A~ &d 12.9 | A%E 11.4
8 [FE EXxF¥ BT ASFHT 14H0OK) [ A &H 12.4 | A%E 11.3
CIEES NTTA BUm=fEEETLO [ sBR)| &L 13.2 | A%E 11.4
10 [IE-F02E[OIXD B8 ER PR = 28] 19H(B)| A &HE 9.2 19.2 7.7
11 [E - FDFE[F X3 BB LLImh A~ HT 2H(®)| ~&d 14.0 31.2 6.5
12 [E:-FDFE|[F X3 B8 ER P = 28] 126(B) 7.9 5.2 39.9 5.6
13 [ FDFE|[F X3 B8 ER P = 28] 19H(B)| A &HE 15.4 36.3 6.9
1 [IEE-F02FE[F X3 (@) B8 EB PR =2 H] 13HCN) | A& 9.8 7.0 4.6
15 [BN% NPEF; SRERRRAT 28H(K) [ A& 10.4 | A%E 12.2
16 [BN3E NPEF; BB LLImh A~ HT 9H ()| A&l 12.6 | ~%E 11.2
17 [&NzE NPEW B8R FE e O] 1H(R)| A~igE 12.2 | A%E 10.9
18 [R=E AES BB LLImh A~ HT 2H(®)| ~&d 10.7 | ~1&HE 9.6
19 [R= AES BB LT EHASTET 5H(B)] Ai&HE 10.2 | ~1&H 9.1
20 [B=E hF WEEB = [ H] 2H(®)| ~&d 13.3 9.7 6.5
21 [R= hUYv 8L/ R 14H0OK)[ A &HE 8.1 | A~#&H 9.7
22 [B=E IR BB AT 5H(B)] Ai&E 12.3 | *%E 10.8
23 [B=E IRE a8)llm 6H(N)| AigHE 14.1 28.5 6.4
EES IR HAE =&FH] 21H0K) [ A& 11.8 | F%E 10.4
25 [R=E aX WHhEM 16H ()| A%&H 10.7 | A%&H 9.6
26 [B=E 11X BB LT AHRET 22H(R)[ A& 12.7 | *%E 11.4
21 |BE aX L =FEHEETEIL | 128(B)] R~ &E 12.9 | F%E 11.5
28 [B=E 11X WEEB = [ H] 78 (k) 11.3 6.6 41.7 7.1
29 [Zoft 52 UM ERICIA [ 14800 NEE 10.6 | ~&HE 9.2
30 [Zoft 52 BB LT ASFET 14H0OK)[ A &HE 11.6 | A%E 10.4
31 [Zoft 52 ELUF=FAEETLO [ 271N R~ E&E 10.5 | ~&HE 9.2
32 [Zoft g B LT E#IZHE | 228 (K)| ~M&H 13.0 | ~&HE 8.9
33 [Zofb B LR EERZFE | 14H0K) 47.1 9.4 318.0 9.8
3 [Zofb bR BLHEE FFEEE| 22H(K) 19.8 6.1 127.0 7.7
35 [Zofb bR LR BT ER 1H(K) 26.8 7.4 185.0 8.0
36 [Zofh B LR BT ERS 1H(K) 19.0 9.9 117.0 7.5
37 [Zoft bR EEE S 26H(B)| A& 6.8 5.9 3.3
38 [Zoft bR RBEE 12H(8) 24,7 8.4 168.0 5.9
39 [Zoft TR (k&) KEEMTH 9H ()| &l 12.9 | F%E 11.6
40 [Zoft AF (GENE) [BRLHEXALLET 5H(A)| A~ &d 11.4 | F%E 10.3
41 [Zoft AUy (GEGE) |BBILTH/NEH 14.H0OK)| R~ &H 7.5 | A~&H 9.0
L2 [Zofb Eg BB LT ASET 14H0OK)[ A &HE 11.6 | ~%&E 10.4
43 [Zofb BN BB LT Zh EH] 22H(R)| A& 12.5 18.3 5.3
Ly [Z 0 BER BLUmEIIERE [26H(B)] A&E 8.5 18.8 6.3
45 [Zofb R MLUTREBEIIER [ 27THCN)] A &HE 12.3 14,2 5.6
46 [Z0fb BN HUTm=FEHEET=M | 195(8)] &L 13.3 33.2 6.1
471 [Z0fe = BB A~ HT 14H0K)[ R~ &HE 11.8 | A~ &HE 10.2
48 [Zofb = BB A~ HT 15H(CR) | A &HE 10.9 | & 9.5
49 [Zofb = ELHTHILEZE | IH(R)|[ FA&EE 12.3 | A~ &HE 10.6
50 [Zoft T BT S 10 H] 5H(B)] A~ &HE 12.0 | ~&E 10.6
51 [Zofe T EBLLITH &< HT 8H(K)| A&H 8.5 | A~#&H 11.1
52 |[Zoft T EBLLITH &< HT 16H (&) ~&H 10.2 | ~&HE 9.1
53 [Zoft T BMLUmHAEr 1H(R)] A~ &E 11.8 | A~ &HE 10.4
5, |[Zofe T BRI 52HE] 8H(K)| A&H 11.0 | ~&E 9.6
55 [Zofe T L= 195 (B)] A~ &E 9.1 | A~%&H 8.0
56 |Z0ft T BUUHHEAEFEAKR] B0 R~@E 12.2 | ~1&HE 11.0
57 [Zofe T BB = FHET 2H(®)| A& 11.8 | A~ &HE 10.5
58 [Zoft T IR 19H(8)| A&H 13.0 | ~&HE 11.5
59 [Zoft T ELTHAHITREH | 95H(R)] ~&E 11.8 | A~ &E 10.3
60 [Z0ft T BT =TEHAIFFH [ 26B(B)| ~&E 1.4 7.0 5.7
61 [Z0fE T BT =TEHHIFFH [ 26B(B)| K~&E 11.2 | ~1&E 9.7
62 |[ZfE T =P EERU] 18H(H)| A1&H 9.8 | A~%&H 12.2
63 [Z0ft T SR ERPa = 2 ] 260 (B)| A~1&HE 10.4 | ~&HE 9.2
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BRHBHRFODMIERERDR (KIE) 2/2
REHR ¢ FRR8F12H18 (OR) ~Fmi28512H28H (7K) (B = A" Jblk/kg)
=S A7y mE PREXH (128) 94134 (£594134) 95137 (£594137)
64 | Z DAt TARIR BBLLITH AHRET 2H(&)| AR 12.1 | AM&H 11.0
65 |H2BFEXK K (ZXXK) BIUTRHENE | 2HEE)| MRS 12.0 | AM&H 10.8
66 [H2BFFEXK X (BX) AR LI H A0 EHET 266 (8)| AM&RE 9.7 | A& 8.6
67 [H2TEMRIER [K (%K) AR LU= A FHHET THR)| A& 12.3 | & 10.7
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